@ [ Ims[ 5 ]I s AnEdh. XEO B%E 22T 0
34 1:2-3-4m5 WB[FA L HDE —D XHAT KEXL, - -
= 3 £T 4 7
D BB RDEFORICE. B2 sEENEb0bH0 ET,
34 WFEBFADEZRIARFEELARNSBIFADZOBIELNTL ]
P &2 1 75T 2 78BS
3 72oTH 4 Iz->7=L
HadbHILOPIC2 A\OREAEATHELE, 2 ARILTEYS
EHbDEEST, WZFkD [ o THEEZLTWELE, & B
BOEATHSIMASITE T, ETHENOT, MEHEIT/IIWGEE L s BT
EELBRMSINICEMNET, 22T HE k5E< 2 ] HEic® s DI 4 O
DIENWTDBIZNET,
HDHEE, WAERTES DT, MbOITHEMNITICITS 2 &2k (4]
DELZ. BRAEZVHEWERES T, BICKkEALTOEE LENS 1 ENTLEL 5 ENTH
TEELE. mnEN->7= [ 8 |, Ao TIrEE<ho i 3 ARTHTF 4 ANSLATLEL
DTT, FNED, ZzoXKIBICT-o>20 [ 4 |, pi3Eick->T
LELELE, MICKEHEELTHR-20TT, [5 ] k5] 0 (5]
ETIE K LEEERT [Z] b5 TT, 1 =hT 2 5D
3 Lol 4 DLk
v~ [ I N




232

@50 370 = ERX
O XZOHWALERTT., ERDSA->LELNTE S > —EHAT.
%L%éjwib;oo

HrbamHBsleoiict. GnstEh-bobs 0 Ed,
FEBIEADE RIS E LN SBIEASDHIELNTL xS,

phlihl 127 ATz

B B0z Y O R EIEATHE L. 2 ML CHIS <

\

Eb0EEoT, Mk ofisTERELTHWE L. RBDMEAT
WBIINBITET, ETHENOT, %m%:méM%%%&bﬁﬁB

CHAWET, Z5FHUL. L2 HoTHHEICKDENTS BIC
nET,

BHBEE, HARAICS DT, b DI HHINI < 2 212720
ibtf%h?%m%%é%of‘%t%éébfo%abmﬁgﬁg
L7 T%Eﬁjﬁ“%ﬁ\o 7=DT. %%‘:%9 T?%%’f: <7amo f:@f“'@‘
NELH., ZOKEBICT>NVERSGATLED. BidBck-TLE

Mnh U

WEL7, #IcKkekE LTk 20TT, %nr{%ﬁjmﬁ$m
k) ciieET (2] nssoTT,

QERBIHDHNED

II' 5 L ==
1-3-4 @EEIBITHENZNVOT, X
These do not continue the 9 form, so O
2 el bi@]ﬂi’é‘ﬂb ;n’""jbl’f E<T%%§’§‘O)’C O

[1Z] can be used to continue the &9~ form, showing an objective so O

£2 KA 9L KA v
1 AiOXERADIE. FATZNVWDZEEZZF>TNSHDT, X
The sentence before and afterwards are saying opposite things so [0
SL V-1
2 BADXLEBMIRNDT, X
Doesn’t continue into the following phrase, so O0
B0 WS
3 1&ECHEHT, O
Same reason as 1,s0 O

rHBT 25 % D W
4 [E<z-o7z] &3, [EiIzkban] BETIE/RWD T, X

“It became late at night” is not a reason for “not to lose the way,”so O

D WS B E5 L o3
1 iEEE’a‘:%’é‘ [T] 3EEITHNSND T, X
[7C] , which shows a reason, cannot follow a verb, so O

L)

2 BEERTOT, O

Shows a reason, so O

5L Kh DT
3 BADXLEMMIRNDT, X

Doesn’t continue into the following phrase, so O0

5L $2 KL BARL L a &4 DT
4 [DIZ] O®’AIIE, #IOXLEHDERDIAWES DT, X

A phrase of the opposite meaning comes after [D1Z] ,soO

233



OBIEFEAELLD

1 ’—%L:J @?ﬁ%:‘i%%’%;ﬁ‘< L5MDT, X 052 (Eﬁ@ﬁg)
The passive form should follow after [51Z] ,soO . " B— o
F->EVERREEFTDIRVWEREL, HONZDRETHbNS,

Expression which does not clearly specify a place. Used in stories, etc.

b VES5FA

2 [~T<NB] BONLWI LRI KB, [Brf~k] T
ONLNI ETIEHBZNWDT, X
[~T<#1%] shows a good thing. It is not a good thing that “the birds ate it,” so O —Erho ([ij@réﬁ)
- ) HBLEIAT.BLVWIAE BEHIAN TAT WEL
3 [EXE] OiF. BT, X

£5 Vo
The one that ate was the birds, so O HBOV. SDE N fFERLL,
54 Fn A Hob
4 ZHWTEARABGHEEEERLTREDT, O
A passive form shows a feeling of disappointment, so O (#) Eg \z r%ij WnWx79,
=) 3
(5] =WNcirE£9.,

1 ﬁﬁé%%@f\O

Shows a reason, so O

5 %X
2 [ 0] 3 [Bbo/2EPB0D] EVSEHRGEDT, X Oﬁizﬁbfcimf
[® 51XV ] means “as I thought,” so O =DM SRS IRNT
5L VoA Kl
3 [LAL] oA BARVWDEKRDONAS ZHDT, X
An opposite meaning sentence must follow [L7» L] ,soO £5 W
5% S E DEdUA O W7 2 &R0 E L,
4 [2ol] & BEhEfIETELROT, X oo
[ ® I-] is for a phrase adding something, so O HIZfr< ZEIiCEDHRL,

QLL7=HDMNED O T-o70
=FAR
H (AN a long time ago
{1 x50 brothers
% &9 HBET to drop
%> EF} to be lost
VLY e luggage
P o rice
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